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1. ‘@’ I arel aat 1 fderot grem?

The diagonal of a square with side ‘@’ is?

a) a2 b) 2va 02a d) av2
2. & GHATg e & el @or gy §

In an equilateral triangle, the three angles are

a) 300,600 and 90° b) 609, 30° and 90°

c) 60°, 60° and 60° d) 450, 45° and 90°

3. p’ I dlel el &I IRAMT &

The perimeter of a circle with diameter p’ is

p
a) TP b); c) 2mp d) nﬁ

4, ‘x’ 3tTearw aur I’ IS F ST FT AT g
The volume of a cylinder with radius ‘¢’ and height ‘’ is
X

a)  x2l b)2mxl C)T d) mxl

5. @ ST e IMUR 12cm @91 341§ 12cm 8, &1 &% grem

The area of a triangle with base 12cm and height 12cm is

a) 144 cm? b) 72 cm? c) 36 cm? d) 288 cm?
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6.

(@ + b)2% sUeR @ &

(a+ b)3is equal to

a) a* + b* b)a®*+b*+2abc)2(at+b) d)a+b?

T YISl H ool hr qedr
Number of sides in a Hexagon is

a) 4 b) 8 c)5 d) 6

U FR 30 A 9. "er dr afd & =we W@ gl 30 e # a¥ far @ gl

A car is travelling at a speed of 30 Kilometer per hour. The distance travelled in
30 minutes is
a) 30 Kilometers b) 60 Kilometers

c) 15 Kilometers d) 45 Kilometers

THh 5T & U 8T &

One inch is equal to

a) 25.4 cm b) 2.54 cm c)254 mm d) 2.54 mm

10. A9 V' & T TAdGIAT'M’ & Tk U5 Fr i Far

114

The kinetic energy of a body with mass ‘m’ moving with velocity v’is

a) m?2 v2 b) Y2 mv2 c) 2 mv d) m2v

g # 1, doear AV, TRRY A R, 4RaT B C ¥ GRIT HY o 3w Braw &

K GESIRS

D
Current is denoted as I, Voltage as V,Resistance as R,Capacitance as Cthen
as per Ohm’s law.

a) R=

v
o b) C = VI c) V=CR d)I=VR
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12, o9 &9 3 @ oRafid @ ST §, 39 9T @ g §

When gas is turned into a liquid, the process is called

a) FTSEEOT / Evapora tionhttps://re(:ruitmentindia.in/previous-papers/
b) Hu=T/ Condensation
c) f81quT/Deposition

d) &4 917/ Sublimation

13. AFfaf@d & & ®i 3cdd degd drerh §

Which of the following is a good electrical conductor

a) velf€ees/Plastic b) w&aT/ Wood c) dfeT/Copper

d) TfAs®/Ceramic

14. d9ATT #AY & AT 939 T J= arer 39ehior

The instrument used to measure temperature is

a) $RFAEI/Barometer b) farel#eT/Kilometer
c) gAfARY/ Thermometer d) 0FReY/Ammeter

15. f2ah ¥elgrse(F) @ R afmw(C)F da &1 day
The relationship between degree Fahrenheit (F) and degree Celsius (C) is

32+49C
5

a) F =32+ 2C b) F = )F=2c32  dF=32-2C

16. T2y Aferd(C) T Hfeas & & &1 gaer
The relationship between Degree Celsius (C) and Kelvin is
a) K=2783+C Db)K=273-C c) K=273+2C d)K=273C

17. AT 3=Ar AR ag 2 & e

Exothermic reaction is one in which

a) AT AT g §/Heat is absorbed b) AT Yer gl §/Heat is produced

c) FsAT Y1 FET gl §/Heat is not produced d) 378 & #1$ 51¢l/None of the above
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Electricity is flow of

a) solegisl/Electron b) Wreld/Proton c) #ggie/Neutron

d) Wel=aa geleel=d/Protons and electrons

19. 500 Al foex ol &1 R g1 &

The weight of 500 milli litre of water is -
a) 1 Kilogram b) 100 gram c) 500 gram d) 1000 gram

20. WHAY IYHASH H AT T Ffevere §

The percentage of Oxygen in normal atmosphere is
a) 78% b) 21% c) 11% d) 5%

21. enfther 3 a1 g AW Fgd §/Laughing gas is
a) =ggreleT/ Nitrogen b) 3RS/ Oxygen
c) aisgH 3Fares/ Nitrous Oxide d) arsfesr s/ Nitric acid

22. 9% & (TERAE g §

Chemical formula for ice is

a) H202 b) H20 c) HO2 d) 2HO

‘pH’is a measure of

a) g8alall ol Yfderd/Percentage of hydrogen b) FsAT/Heat

c) 3t#cigdr &1 f3df/Degree of acidity d) 3mgar @r f3afr/Degree of Humidity

24. Aeafaf@a & 58 38 3T Fed ©

The following is called as Dry ice

a) ©=eld Stef/ Solidified water b) w1 AT/ Solidified Ammonia

c) Iiar/Urea d) B=fred @reer sTs3ifFaTss/ Solidified Carbon dioxide
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| 25. 3o @ Fe wfET AT

Which is an inert gas

a) AT/ Oxygen b) g8aat«1/ Hydrogen
c) &ifega /Helium d) ®Iea EE3TEFATEs/ Carbon dioxide
26. UTAT & FIUATH ceveenernaennenn.s 4

The boiling point of water is

a) 100°F b) 100°C c) 273°F

27. AifsTA veldAee &1 Red §

The symbol of element sodium is

a) S b) P c) Na
DB rcermssersimnses Tsh 35 ¢
Which is an acid

a) NaOH b) HCL c) NH3

29. 3aq ol fr 9= g R=ar

Periodic table was introduced by

a) Einstein b) Curie c) Mendeleev

30. e 1 gfeica LED §

LED is the abbreviation for

a) omge UfAfZar s/ Light Emitting Diode

b) @@ Tssit dld1est/ Low Energy Device

c) W9 Solfdgahd sAS/Laser Electrical Diode

d) oife=R selfdgear f3agst/Linear Electrical Device

£ Fp— e WS W

Domestic cooking gas is

a) CNG b) LPG c) Methane
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32 e 1 gfaca PSLV g

PSLV is the abbreviation for

a) Precision Satellite Launching Vehicle
b) Popular Satellite Launching Vehicle
c) Polar Satellite Launch Vehicle

d) Peoples Satellite Launching Vehicle

33. 9Rd # fAdRa wohel yrawdm oo faegd 3mqfd ............ gIaT &

Single phase domestic power supply in India is

a) 415V AC b) 440V DC c) 230V AC d) 230V DC

34. arerd A sdrar § & (V- 3maa4, T - agaAs)
Charle’s law is stated as (V — Volume, T — Temperature)

a) AYA(T) ¥ V AR &/V is proportional to Temperature (T)
b) T2& V HARICS ¢ /V is proportional to T2
c) 1/T ¥ V §AEUS §/V is proportional to 1/T

d) TH# V ssX §/Vis equal to T

35. e, & Gt ISRO &

ISRO is abbreviation for

a) Internal Space Range Office
b) Inertial Space Reaction Office
c) Indian Space Research Organisation

d) Indian Satellite Range Office

36. 3N @ = & T HlaT d7 I w2 & o S §

Which gas is used for quenching fire

a) ATeRdSleT / Oxygen bsged 3TeFATSs / Nitrous oxide

c) ®ea 3E3iteAss/Carbon dioxide  d) g83=T/ Hydrogen
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' 37. % & Ueded &

Density of ice is

a) STl & e /Equal to water b) e & &A/Less than water

c) STel ¥ 36T/ More than water d) s & &I 7T/ None

38. 6 con3MHSATH & TH Mol FH AT gl

The volume of sphere with radius 6 cm is

a) 288w cm3 b) 144 m cm3 c) 36 m cm3 d) 72 m cm3

39. 5 cm HeTaTel ©eT &I AT gram

The volume of a cube with 5 cm side is
a) 125 cms3 b) 25 cm3 c) 250 cm3 d) 50 cm3

40. ... T¥cd SACAIOT & A& &

The acceleration due to gravity is equal to
a) 10.12 m/sec?2 b) 9.8 m/sec? 'c) 12.10 m/sec? d) 9.5 m/sec?

41. HAEY §HE TR W GGASAIET ... 3
Atmospheric pressure at mean sea level is
a) 1.0 bar b) 1.5 bar c) 100 mbar d) 10 mbar

42. AT RX FEHET d9AT &

Normal temperature of human body
a) 96.4 °F b) 98.4 °F c) 98.4 °C d) 93.4 °C

43. g & GRT T 3 AT F AT s

Unit used for indicating pressure

a) Kg / sec? b) Kg / cm3 c)Kg / cm d) Kg / cm?

One horse power (HP) is equal to
a) 1000 watts b) 746 watts c) 764 watts d) 774 watts
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45. 3T/ Gases
a) 3cT=d §91gT §/Are highly compressible
b) fd@xoT fg@rar §/Show diffusion
c) @efr feem & us & g sTedr &/ Exert same pressure in all direction

d) 39 @&t/ All the above

46. LPG & #ET °UTh ¢

The main constituent of LPG is

a) A/ Methane b) sg¢=T @ WIv+T/Butane and propane
c) 33«7/Ethane d) vfeeleT/ Acetylene

47. LPG 39 & e &l HRT ......... e @ g &
The smell of LPG gas is due to the addition of

a) Uf¥er vealgial/Ethyl alcohol

b) AfAer TeIglal/ Methyl alcohol

c) ufe AHIes/Ethyl Mercaptan

d) tf¥a Wiee/Ethyl acetate

48, LPG &l Uacd &

The density of LPG is
a) gaT ¥ SUEl &/ Greater than air

b) gaT ¥ %A §/Lesser than air
c) gar & §AA g§/Equal to air
d) &1 ¥ 15 5Ter/None

49. R g LPG I Rt 1 oK &

The filled weight of domestic LPG ‘gas cylinder is
A
a) 10.5 Kg b) 16.5 Kg c) 14.2 Kg d) 20.5 Kg
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50. &1 g3maOIfSas LPG du fafdist & o &

in
The filled weight of commercial LPG/:cylinder is

a) 20.5 Kg b) 19.0 Kg c) 21.6 Kg d) 18.6 Kg

51. & 1@ (fen400% e} &, dotan @ g9

Given @ (Theta) is equal to 450, then tan @ is
a) 1 b) 0 c) 3AHA/infinity d) 3H ¥ S 7T /none

52. Tan a §/ Tan o is

sin a CoSa 1 1
b)

COoS Sina

a) :
Sina COS
53. Yedeld §/Combustion is a

a) I IRade/Mechanical change b) TERI® IRade/ Chemical Change
c) faega 9Rad=/Electrical Change - d) g & #1$ 78/ None

54. @l AN 4] FA F AYAT W ga g 1 ¥
Which metal is liquid at room temperature
a) Copper/dfar b) WATH/Aluminium c)  #ARI/Mercury

d) SeRIEN €T/ Stainless Steel

55. SIe A qd1ar § 5 (P - &9, V - 3mra)
Boyle’s law is stated as (P - pressure, V - Volume)
a) V & P §AUIGH §/P is proportional to V
b) 1/V& P §&EUIG® § / P is proportional to 1/V
c) V& P §/Pis equal to V

d) V2 & P ¥AEUGS §/ P is proportional to V2
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56. T FAPT BT e ST K@y €, 3@k w1 27, A

A right angle triangle with sides xand y, the hypotenuse is Z’, then
a) Z=x2+y2 b)) Z=VxZ +.[y? )Z=x+y d) Z=x2+y?

57. LPG & 3T §

Boiling point of LPG is
a) —42°C b) — 180°C c) -62°C d) 100°C

58. LPG &T 3T §

The colour of LPG is
a) sirerr/Blue b) A3/ Orange  c) &/ Green d) WET/Colourless

59. @feer ufer

Vector quantity
a) % gR@ATT A F%9er Far §/Represents only magnitude

b) IRHATOT qAT 2T A AEIUT FXAT & /Represents magnitude and direction
c) % fEem & fAw9ur a1 §/Represents only direction
d) 37 & F1E 781/ None of the above

60. Uy FT " g/Density of a substance is

Volume
a) Mass x volume P
Mass
Mass )
c m d) Volume x Mass/time

EX o
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